AR E 25 D1

THMAEE AMHIFF-EX

| Adlm | &8 4 # 11 5 22 g8
(B A1)
Bl | T E-%#% %8R ATE-FRER IER-XBRANE THXIE2HHR AFL 258 (Fiik)
S E1E F2[m #3E s
W7IRYIR 7,500,000 TE%ANE
E5 35 m V) 4,570,000 THIBA R A
B R411.25 |ZBEMIVHILEYEH 7,450,000 F 5 flitg (Fiik)
e v - W7 A-T4—I— 5,980,000 7,850,000
HFN4ERE BMAHS X g%ﬁﬁf%igﬁiﬁﬁ EEAE 7,300,000 BERR DB DETEIEEH
AE | TERMERER A iﬂzvg 2B E AR 4 A 193,300m2 E R5331 |WEKAEEHH 7,600,000
EEBER 55 5 E 18,200m2
At FERER 53,600m2
FER(ERENEE EFT LB (FR)
Has L BIETEEII —TB21%& 125 5,027,000
RS F1E F2[ #3ME w5
HW7IRVIR 6,400,000 IE%iANE
oz ILE 2,880,000 TR A%
B R411.25 |ZB AV S ILE2YH 6,200,000 ¥ E (il (Fiik)
s - W7 -T4—T— 6,700,000 6,610,000
WD | STAEE BRARSD 8 n*ﬁzgﬁ%l o1 (ﬁ)_ﬁhﬂ'ﬁiﬁﬂi _ 6,200,000 BB DB DEFEEH
VYL TEBEREX ¥ s EEHRE 15%0% E  R5217 |WEXAERBH 6,450,000
AU (HHEREEBERE IHE0HKH 18T
BEME 1EE
FEALEREE HERR LS (FR)
BHaU YL AEMEMEE ZTH21& 125 3,168,000
< F1E F2[ #3ME ik
|1 E M 3,750,000 TE%iALE
(ISE=S 3,900,000 AR ERE
B R41124 |W=fEmE= 3,830,000 T E {4 (Fiik)
54{8145:5,480.0m - HEREMH 3,850,000 4,030,000
smamg wpax | may  [hS6m PR DB 3
b N 25353%%6.%% X E 545 T2-5:33.1m Z R5.331
RBETH BH | rar-y45.8m
RBHFER 0N
FERLERIESE fERR LR (FR)
(B ESEM B BT KFh #9441 4,125,000




Al | T E-XBERETE-ZRGH IE-XBRINE THRIE2HHM AFL 5 (Bitk)
EEEE F10E F20[E #30E 75
TR 15,400,000 IEHENR
SRk 15,100,000 AR ERE
B ABABIE 15,000,000 F 5E filidk (Fiik)
- BHEEHIXE 15,300,000 15,460,000
s N ifﬁggi ?;%u’?‘gg%t x5 Bﬁﬂggggﬂ—i%%%% BERERL=192.40 R5.2.20 HEREE A EROAPIEAR
HETHE(34—15—2 M N ESRET 2 B = <
IIZ) Ay [HA=R
FERLRIESE fERR R (FiIA)
RBABITE BAFNATHT 2 856-3 16,500,000
R %1@ F2@ #3E &5
FLHEEM 17,700,000 IESENE
Gk 17,200,000 ER T R ExE
=} BEAE I % 17,500,000 F IE flidk (k)
N i . e N ERBREIXR 17,700,000 17,920,000
+% TREER RRER KiEE HhAZE E T . 15t & R5.220
FHETE(34—16—-2 A g
=) FARIT% ¢ 150PRP
BRARIEFL=2540m BHERIEKL=2450m
FERL(REE fERR LB (FR)
(R = 2 E% BAFNET R 2100 18,920,000
BaEE #1@ F2@ #3m &5
FEH RN 17,200,000 IEEHELF
Gk 17,400,000 ERT R AR R
B R41125 |HEARI%E 17,650,000 F 7€ filit% (Fiik)
- SHEBHEIEE 17,350,000 17,710,000
SHAEE Ih B BEEHERELIE L=151m P E »
x £%§§F¢;§%§§JT - L'_p?g%%%&% = . o N B 17,700,000 FEZ2 DB D EEEH
KB REEMERIET A FERIEEE T B2000 X H1500 T245 L=8.8m
= JKE& T B2000x H1500 L=6.3m
FEALEREE ERR P EEE (FBLIR)
TR BAFNBT K1k B 687 18,920,000




EBE|EH |T E - %% X K A[(TE-FREH IE-XBRINE THRIE2HHM AFL 5 (Bitk)
< F10E F2oMm £3m 75
TRFEH 5,800,000 IEHENR
RIm R 5,900,000 s
B R41125 |AERETZ 5,830,000 5 FE {4 (Fidk)
PROBETHRE 60.2m - BHRIFEIER 5,980,000 6,020,000
FHAEE HRARE PRAOBFHE 60.2m I B 6,000,000 B2 0 B ;2 SR ER £
@ | % fHRaRfte EE12 x5 HET =  R53.24
25 HREEFRBAFN/ A /AR A KEIL 900m -2
REXRESERKBIE XEfRT
AR EXER (SMEER) 60.1m
FERLRIESE fERR LR (FR)
TR BAFNAT K1k B 687 6,380,000
RS %10E F2m #3E s
FLHEEM 5,800,000 TE%ANE
Gk 5,650,000 ER T R ExE
B R41124 |mREITE 5,750,000 F IE flidk (k)
%ﬁsggmzﬁfﬁ‘;g? ) 1B 4.6m2 _ BEEHTEE 5,780,000 5,860,000
ZHAER HENEE | BEmEaorome E e s 1y )1 SRR 5,800,000 BROEOREER
1 |BREXNE WE2-) BE |URMe2 Im ABORANT N SKB2E = R5317
= = T B 2:260.9m2 L B #:260.9m2 5 [E:310.4m2
SR 0y9:26.6m AR R E#:141.7m
XEFEE15A
FERL(REE fERR LB (FR)
(F)EEH BAFNET R 2100 6,215,000
BaEE #1@ F2@ #3m &5
FTHEHK 5,400,000 IEFEHR
Gk 5,250,000 ERT R AR R
B R411.24 |HEAEIE 5,200,000 F 7€ filit% (Fiik)
EMEFEIER 5,300,000 5,400,000
ER4T4L L=300 ~ -
SFIAFE BB %ﬁ;gﬁtm TLmFy S0k ISR 5300000 PEROFEDEERE
© | £K |ENE2—30884124% ¥ﬁ%§1 HEXZEAIAE L=160m Z R5.228
BEREIE BIiEZE 2888 7'L-FU 1648
TEFHERE 10A
FEH(EREE ERR LR BA)
(B)REIE B FNET 7 E.856-3 5,720,000




